I-a MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) : 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

Jeld Wen Inc.

3737 Lakeport Blvd.

Kalamath Falls, OR 97601

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including High Velocity Hurricane Zone of the Florida Building Code.

DESCRIPTION: Series W/E Outswing Opaque Insulated Steel Doors & w/wo Sidelites

APPROVAL DOCUMENT: Drawing No. S-2108-01, titled “Wood Edge Opaque Steel Outswing”, sheets
1 through 8 of 8, prepared by PTC, LLC, dated 12-15-01 Last revised on 10/25/07, signed and sealed by Eric
S. Nielsen, P.E., bearing the Miami-Dade County Product Control Renewal stamp with the Notice of
Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING:
1. Doors: Large and Small Missile Impact
2. Sidelites: None. Approved Hurricane Protection Devices, complying w/ FBC, as applicable are required.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 02-1216.10 and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.

NOA No 07-0709.07

Expiration Date: August 01, 2012
Approval Date: November 15, 2007
Page 1




Jeld Wen Inc.
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS (Transferred from file # 02-1216.10)
1. Manufacturer's die drawings and sections.
2. Drawing No. S-2108-01, titled “Wood Edge Opaque Steel Outswing”, sheets 1 through
8 of 8, prepared by PTC, LLC, dated 12-15-01 Last revised on 10/25/07, signed and
sealed by Eric S. Nielsen, P.E.

B. TESTS (Transferred from file # 02-1216.10) Original test conducted per SFBC, PA 202-94,
now known as FBC, TAS 202-94
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test, FBC TAS 201-94
5) Cyclic Loading Test, per FBC TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of outswing Glazed steel door,
prepared by Certified Testing Laboratories, Inc., Test Report No. CTLA 697WA, dated
11/12/01, signed and sealed by Ramesh Patel, P.E.
2. Additional test report
Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 3603.2 (b) and TAS 202-94
along with marked-up drawings and installation diagram of wood edge outswing glazed
steel door, prepared by Certified Testing Laboratories, Test Report No. CTLA- 961W,
dated 10/23/01, signed and sealed by Ramesh C. Patel, P.E.

C. CALCULATIONS
1. Anchor Verification Calculations, prepared by PTC, LLC, dated 06/20/07, signed and
sealed by Eric S. Nielsen, P.E.
2. Glazing complies w/ ASTME-1300-02

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS .
1. Notice of Acceptance No. 05-0921.09 issued to ODL, Inc. for “HP Propropylene
Doorlight Assembly”, expiring on 1/17/11.
2. Notice of Acceptance No. 07-0828.01, issued to Trinity Glass International, Inc. for
“Trinity Lite Frame” expiring on 7/3/12.
3. Tensile Test prepared by Internek Testing Services Inc., Project No. J99006660-001,
dated 3/30/99, tested per ASTM E84-97a and ASTM D 1929-91.

\5‘/\“’\ \ L\r\«wc\«

Ishaq I. Chanda, P.E.

Product Control Examiner

NOA No 07-0709.07

Expiration Date: August 01,2012
Approval Date: November 15, 2007



Jeld Wen Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. MATERIAL CERTIFICATIONS (Continue)

4.

Photocopy of test report 114884-1 dated 11/24/98 for “Standard test Method for Rate of
Burning of Self-Supporting Plastics in Horizontal position per ASTM D 635-97; and
test report No. 114884-2 dated 11/24/98 for “Measuring the Density of Smoke or
Decomposition of Plastics” per ASTM D 1929-96; and test report No. 114884-2 dated
11/24/98 for “Measuring the Density Smoke from the Burning or Decomposition of
Plastics” per ASTM D 2843-93; all the above tests reports are for DC-1643-05 Filled
Polypropylene Fiberglass & Mica, issued by SGS U.S. Testing Co. Inc.

Photocopy 4500 Hours Xenon Arch completed tensile report No. PRI00034 dated
December 12, 2000, issued by PRI Asphalt Technologies to ODL for Spartech
Polycom PP5530-C13, 4500 Hours Xenon Arch exposed samples, Tested per ASTM
D 638964, signed and sealed by Charles L. Thomas, P.E.

Notice of Acceptance No. 02-0429.11, issued to Trinity Glass International, Inc. for
“Trinity Lite Frame” dated 7/3/02, expiring on 7/3/07.

F. STATEMENTS

1. Statement letter of conformance and “No financial interest, dated 06/21/07, signed and
sealed by Eric S. Nielsen, P.E.
2. Laboratory compliance letter, as part of above referenced test report.
G. OTHER
1. This NOA renews NOA # 02-1216.10, expired on August 01, 2007.

\%(m“ \ . L\’\A u\c\ﬁ

Ishaq I. Chanda, P.E.

Product Control Examiner

NOA No 07-0709.07

Expiration Date: August 01, 2012
Approval Date: November 15, 2007



745" WAX. OA FRAME WIDTH ~—— 70.25" MAX. OA FRAME WIDTH —- B
I 875" IP. —d— e 125" 75 75" MULL. 155" MAX. OA. FRODUCT RENEWED
DWEN® Stee I . . ) . TP, BAR TYP. SIDELITE FRAME WIDTH as complying with the Florida
36.625" MAX. OA R . . . Buiding Code
—f|  PANEL wiDTH |- 36 MAX. 0A _ 875 36" MAX OA. 14° MAX. OA. Avceptance No ©7-0 26907
80" WOOD EDGE OPAQUE STEEL OUTSWING W/ASTRAGAL PANEL WIDTH TP, ,' PANEL WIDTH PANEL WIDTH Exyiration Date ALIG 61, 201 2-
IMPACT DOOR UMITS WITH & WITHOUT NON-SPACT SIDELITES 24 5y lﬁ(m’—'ﬁ [. LL-\VJ\-
' ‘MIH, awiDade Product Control
f GENERALNOTES A\ =2 = == Birbion

1. THIS PRODUCT IS DESIGNED TO COMPLY WITH THE 2004 FLORIDA BUILDING INACTIVE 96" 7.125" MAX, -

CODE (W/ 2005 & 2006 SUPPLEMENTS AND HIGH VELOCITY HURRICANE ZONE 96" 1 MAX 4 o] ot Zir OA D.LO. = §
"HVHZ" REQUIREMENTS). WA 0A : WIDTH 3 <

2. 1X OR 2X WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO A PANEL .BEx
TRANSFER LOADS TO THE STRUCTURE AND TO BE REVIEWED BY BUILDING e HEIGHT 3 79.125 e = o g
OFFICIAL. &

HEIGHT MAX.

3. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED PER ANCHOR LOCATION @ \v/ < @ 0A z 8 3 g
DRAWINGS. ANCHOR EMBEDMENT TO BASE MATERWL SHALL BE BEYOND WALL 97.5" = ey 97.5" = = 0.LO. TECEK
DRESSING OR STUCCO. X @_ AX. HEIGHT 2TIED

4. SEE TABLE 1 ON THIS SHEET FOR DESIGN PRESSURE RATINGS. OA 4 6} — 0A v v ﬂ 3

5. THIS PRODUCT MEETS THE WATER REQUIREMENTS FOR "HVHZ"™ ZONES. SEE FRAME r":' 1 FRAME ] = w E E
THE DESIGN PRESSURE CHART BELOW. HEIGHT HEIGHT il ¥ )

6. SIDELITES REQUIRE MIAMI-DADE APPROVED IMPACT RESISTANT
SHUTTERS. _J 42 %‘.‘g Q

21
\7. SIDEULEI-ISRAA%N AN OPTION AND CAN BE USED IN A SINGLE OR DOUBLE ) * - ' ‘ - ‘ - ’é‘{og .
7]
, SINGLE QUTSWING (MPACT S 22
4 RESIDENTIAL INSULATED STEEL DOOR (Comimon to all frame condtions) N J 0.75" ] 0.625" ] % @ UNIT_(0X0) W/ NON-IMPACT uﬂ?§ m%
COMPONENT CONSTRUCTIONS: 0.625" ' ’ ! ozl 5§
ol =

Face sheets: 24 ga. (0.0207) minimum thickness, Galvanized Steel A-525 . VIEWED. FROM_EXTERIOR —————————— 107" MAX. O.A. FRAME WIDTH w1 -
commercial quality — AKDQ per ASTM 620 with average minimum yield ] S7.75° NAX. OA 875 125" —afa 75 MULL | 15.5" MAX. OA 5= § g
strength Fy(ave.)=30.627 pSi. FRAME WIDTH TYP. 36 625. MAX. OA SIDEUTE FRAME' WIDTH %Q:S g l-nz.lg

ign: Expanded polystyrene with 1.0 to 1.25 Ibs./cf density, by 875" TYP, — 36" MAX. 0A _ IPANEL WI[jTH 36" MAX O.A. | 147 MAX. OA. -..;8% ol S
JELD~WEN, INC. : : PANEL WIOTH | WASTRAGAL | PANEL WDTH , PANEL WIDTH S5le

Door Panel Construction: The active and inactive panels are constructed from p /. p 5 5 o
24GA. (0.020" min.) golvanized steel. The face sheet tops and bottoms are 2 &'8 o
bent 90" over the top and bottom rails. The top LVL rail measures 1.67" l o EE E
wide x 1.0” high, The steel bottom rail measures 1.67" wide x 1.21” high. = E = 125" M 3 £
The optional wood bottom rail measures 1.67" wide x 1.25" high. The INACTIVE L 04 DLO - =
sides of the face sheet are roll formed onto the LVL latch stile and —1 96" P =1 = WIDTH SIES é glS
Ponderosa Pine hinge stile which measure 1.67" x 1.0". The interior cavity MAX. 4
is f;lled with polystyrene The face sheets are glued to the polystyrene 0A. §

: The sash is constructed from 24GA. (0.020" min.) qalvanized PANEL u §
steel. The edges of the face sheet are bent 90" over the polystyrene core HEIGHT 79.125 §
and glued to it. The sidelite panels are routed to receive the ODL Lip Lite /N %A; .§L S E
Frames or the optional Trinity Light Frames. (See sheet 7 for glozing 97.5" 7.y \v4 ] || @ . wé 2
details.) The lite fromes ore wet glazed on the interior and exterior. Both =i MAX. & =l H%IlégT = %
under seperate approval. VT@ OA o @ @— & ? E 13 é

Frame_Construction: The frames are constructed from Ponderosa Pine jambs — FRAME = 2 & g %
measuring 1.25" wide x 4.563" deep. The door and sidelite head jambs are ] HEIGHT ] ] 5 2| 2l ol
mortised and butt joined to the side jambs and attached with (3} 16GA, 2° y 4 alg S 5
x 7/16" crown wire staples. The units use a high dom bump face Imperial &|=|2 ;é:" §
threshold measuring 5.25" deep x 1.75" high or o standard bump face Q § § S é
Pemko threshold measuring 4.041" deep x 1.0" high. The thresholds are = =i Lm NS

k attached to the frames with (3) 16GA. 2" x 7/16" crown wire staples. / | i QQQQQE
DOUBLE QUTSWING IMPACT SLIRIER

] CAYER . UNT_(OXX0) W/ NON-IMPACT SRS

7 TABLE OF CONTENTS N\ oszs” XD 0.75 0.625" - SIS

SAT £ DESCRIPTION SINGLE_QUTSWING IMPACT UNIT (X) DATE: 11—-15-01
1__ | GENERAL NOTES AND TYPICAL ELEVATIONS TABLE 1: VIEWED FROM EXTERIOR o N1
2RI CRO05 SECTIONS AND BILL OF MATERIALS DESIGN PRESSURE_ RATING—WHERE WATER | W/BUMP FACE |  W/HIGH DAM Prepared By: o e W

INFILTRATION REQUIREMENT 1S NEEDED THRESHOLD THRESHOLD y _J 4 —
4 HORIZONTAL. CROSS SECTIONS AND NOTES D00R ONTT (3, O, X0, 0X) : r ' CHK. BY: RW
5 | ANCHORING LOCATIONS AND DETAILS SINGLE B, 20 +50 psf -60 psf | +60 psf ~60 psf £rc 5. N L -
5| ANCHORING LOCATIONS AND DETALLS W/WO NON-IPACT SDELTES et Maliiatia Flrid 7 £. No. 41323 DRAWING NO.:
7 GLAZ’NG DETNLS W DOO? UN" (XX. OXX. XXO. OXXO) +47 1535 C i .St t, Suite C25 PTCo LLC 5—2108-01
_WPACT SIDELITES psf ~43 psf | +47 psf —43 psf Rockiedge, Florida 32655 Phone: 321-690-1788
k g UNIT_COMPONENTS j WHO NON-WPACT FBPE MM eo-l Mhod‘:otbn NO. 25035 Fax: 321-690-1789 SHEET _1 oF _8




NCR ITEM RESCRIPTION MATERIAL |
3258@5/ g Lo ea0D f,ﬁg‘g,’SEF/ g o001 [DOOR STEEL FACE SHEET 24GA._(0.020°MIN.) STEEL s o ENEWED
1.50" BY OTHERS 1.50" BY OTHERS 2_|FRAME HEAD (FINGER JOINTED PONDEROSA PINE) WoQD Buiding Code orida
MIN. SEE NOTE 2 MIN. = SEE NOTE 2 L3 |FRAME HINGE JAMB (FINGER JOINTED PONDEROSA PINE) WOooD Aceeptance NOQJ_,_QZQ?_ﬂ
0.25" EMB. pot. 5y Pt e ON SHEET 1 0.25" EMB. NET R s (19 ON SHEET 1 4 |FRAME LATCH JAMB (FINGER JOINTED PONDEROSA PINE) wooD Expiration Dute o2
MAX b oot MAX 5 [4” x 4" BUTT HINGE 12ga. (BY HAGER) STEEL sy Slhas [ (Lawde
- e @ ' e T = @ 6 _|#9 X 1 PFH WOOD SCREW (HINGE TO DOOR) STEEL Miam! Dade rouct Coms
SHIM 4 SHIM 4 7_| DOOR LATCH STILE LVL Division e Contro
| ‘ /@ - 8 |OUTSWING PEMKO BUMP FACE THRESHOLD 4.041 x 1" ALUMINUM
i 7 T 7 T 9 _|WOoOD DOOR BOTTOM RAIL WOOD =
G G ! % gz 10_| COMPRESSION WEATHERSTRIP FOAM g ;E,
N i AL 11_|DOOR TOP RAIL LVL
SEE DETAIL 7_~ T U SEE DETAIL 7_~" JAPK & 12_| STEEL_DOOR BOTTOM RAIL STEEL 0% e
oN SHEET S g :/® ON SHEET 5 13 [DOOR HINGE STILE WOOD e “3
: SEE NOTE 6 31 14 |#10 x 1 _3/4" PFH WOOD SCREW STEEL - 3
el (19) RSHIACT, Y SEE NOTE 3 15_[LOCK BLOCK - LV TEEY
= Bl . St ON SHT. 4 16_|3/16"_ITW_TAPCON ANCHOR W/ 1_1/4" MIN, EMBED. STEEL 2 % E -
N 17_| EXPANDED POLYSTYRENE (1.0 fo 1.25 Ib./cf DENSITY) BY JELD-WEN FOAM 2
1.75" MIN 1.75" MIN. 18 |HIGH DAM BUMP_THRESHOLD (BY IMPERIAL) ALUMINUM Q E :
, PANEL THK PANEL THK. 777 36 19 | 2x WOOD SUB BUCK WOOD wedF
e - 20 |SHIM_(0.25" MAX. THK. HIGH DENSITY PLASTIC OR GREATER) -
(NIERIOR | EXIERIOR 21 |KWIKSET 400 SERIES KNOB STEEL 5, £
; 96.0" SEE NOTE 2 22 [KWIKSET TITAN 700 SERIES DEADBOLT STEEL 5
97.5 TN MAX ON SHT. 4 23 [#8 x 1 1/2” PLASCREW (ODL LITE FRAME) STEEL E.O'DS 2
IgAi(- OA. 0.125” MIN 24 [#8 x 2" PFH WOOD SCREW STEEL Q N gQ
FRAME PANEL ) GLASS THK. 96.0" 25 |#8 x 2 1/2 PFH WOOD SCREW STEEL %uo;% ﬁg
HEIGHT  97.5 26 |#10 x 1° PFH _WOOD SCREW STEEL 255 3
HEIGHT MAX. INIERIOR  EXTERIOR MAX. ™27 1§10 x 2" PFH WOOD SCREW STEEL ST 3o
O.A. O.A. ™28 |MULLION CAP WOOD WSl &S
FRAME  FOR OPTIONAL :g’;f,’} 29 [SILICONE CAULK (CR LAWRENCE 33 C) SILICONE g%; =
HEIGHT 4 /9 & 17 1.6 30 [GLAZING COMPOUND (QSD BY ODL) SILICONE £§35|8 32
s 31 |BRAD TRIM NAIL 16CA. x 3/4" LONG STEEL wSE |7 ES
SEE SHEET #7 32 [3/8" QUARTER ROUND SIDELITE_STOP WOooD SI= |9 ¥
. SEE NOTE 2 33 |CORNER BLOCKS FOR STEEL DOOR BOTTOM RAIL MDF Sl e |
3/16" ITW ON SHT 4 34 | SCHLAGE KNOB SET fF51 STEEL 2 gg ©
TAPCON ' 35 | SCHLAGE DEADBOLT #B360 STEEL oR S|k
36 | SIDELITE STEEL FACE SHEET 24GA. (0.020" MiN. STEEL) STEEL o &
38 37 |1/8" TEMPERED GLASS (BY PPG) GLASS PECEE
38 [ODL LITE FRAME SG (UNDER SEPERATE NOA) POLYPROP. S| =| @l
i 38 (HP_POLYPROP. THERMOFIL—P6—30FM0391)
CEREEE NSO T 39 | PRESSURE TREATED MULLION BAR (3/4° x 4 9716 x 97 1/2") | P.I. WOOD B
NETED PPN SRS 625" SEE NOTE 6 S 40 | ALUMINUM_EXTRUDED ASTRAGAL (BY IMPERIAL) ALUMINUM 3
' S R SR ey ON SHT. 4 3 o 41 | ASTRAGAL STRIKE PLATE (BY IMPERIAL) STEEL TIS g
" . » " 42 |YALE KNOB HERITAGE SERIES STEEL "
.25 ] ﬁgggﬁg’:/ 3/16" ITW 43 [YALE DEADBOLT HERITAGE SERIES STEEL 3 §
' MIN. " EDGE DIST. TAPCON SIDELITE FRAME HEAD, SILL AND JAMBS (FINGER JOINTED M S
EMB. BY OTHERS 44 | CONDEROSA PINE) WooD g5
@ﬁw SEE DETAIL 7 Vo3, 45 _|LITE_FRAME BY TRINITY FOR 1/2" I.G.U. (UNDER SEPERATE NOA)| POLYPROP. ge g &%
WITH HIGH DAM THRESHOLD ON SHEET 5\ ‘ 46 |1/2” INSULATED TEMPERED GLASS (BY TRINITY/AMPAC) GLASS 2ls(Fls 3
‘ KR 47 |LITE FRAME BY TRINITY FOR 1” GLASS (UNDER SEPERATE NOA) | POLYPROP. i
3/16" ITW (13 N 48 |1 INSULATED TEMPERED GLASS (BY TRINITY/AMPAC) GLASS EERE
TAPCON (T 49 |LITE FRAME SCREW #6 x 1 1/2" LONG_PANHEAD (BY TRINITY) STEEL A i o
XL A 50 | GLAZING COMPQUND DOW 1199 SILICONE SISISISIS)
8 } S i 51 |#10 WOOD INSTALLATION SCREW W/ 1.50" MIN. EMBEDMENT STEEL §§§3£§
. mti o CONCRETE, |52 | DOOR LATCH_STRIKE PLATE STEEL AR NSRS
| S -\ 1.25 _1.75"._2.5" MIN. MASONRY . |53 |DOOR LATCH DEAD BOLT STRIKE PLATE STEEL wo[olo]<[d
f RN SRRy VERTICAL CROSS SECTION Prepared By: rm Mwirv
1.25” o CONCRETE/ D Siottne e ) olas(e ™
MIN. ' ] MASONRY oHk. BY. __RW
EMB. EDGE DIST. BY OTHERS Flaka . £. No. 41323 TN 5
VERTICAL CROSS SECTION 153 Cogmwal Strest, Sute C25 Phone: 351 —aaD— 1788 5-2106-02
629 WITH STANDARD BUMP FACE THRESHOLD FEPE Certfosts of Authorsation NO, 25935 Fax: 321-690—1789  |sweer 2 oF 8




PRODUCT RENEWED
as complying with the Florida

SEE NOTE 2
on sreer 1019 @0 7 ace SEE NOTE 2 Buiding Code
ON SHEET 1 Aceeptance No @ 7000907
SEE NOTE 4 Espiration Date_A406 0 (72612
ON SHT. 4 SEE NOTE 7 gy_\Ghaey | (Lapde
ON SHT. 4 Mizmi Dade Froduct Control
EXTERIOR XTERIOR Division
S \ 1.75" MIN. Coa
Ao < | PANEL THK. et g?
AR AR e D e B AN DU 4/5% /'] (o Bt -ES"
) e TVt " X ‘ . . .‘ . : :;.: . . RS 1NN R i =
\\ .. \ . -. . “'E o ‘: ‘ . .. r : N '~. / . .:. co . . o , . o . 5L m [T )
\\ , 'y S N . L . . . . . .o P RN ’ ESEF
NNl SEE DETAL 5,1 SEE DETAL 4—"/ q 3 3
OI\ON SHE §
: _\\ SHEET 5 ON SHEET 5 m x
- INTERIOR INTERIOR Q. 0
e gy o
N \\\\ 0 Ehg
ANNNV5) #10 woon ] concrere/| G| 8
SCREW uasonRY” | TS| &g
BY OTHERS| BIT| o8
" HORIZONTAL CROSS SECTION HORIZONTAL CR :H% .. 20
—| | 025" TR e 70 B e (G HORZONIAL CROSS SECTION 25" wax. __| | gis X 8%
__11.50" MIN. |__ SHIM " 23 L
CONCRETE/ EMBED. | 1.23 Eth. | §§§ K
MASONRY BED. Bl <
BY OTHERS 'QEE S
SEE NOTE 15~ 2RI
ON SHT. 48 g %
ASTRAGAL THROW BOLTS (2) TOTAL; (1 EACH)
N | GG B0 NTERIOR 0.31" DIA x 9.0° LG. AT TOP & BOTTOM GEREEE
4 B
INACTIVE EXTERIOR ACTIVE /| 1
. LTRNTS <IN
~/_ ] SEE Nons./f-/;- §g§ 2
, < 1 SHT. 4 L 2]
B R . ..'.. .-"-; Cee T :\_. ,’/ ‘ L. A R \‘—- EEE _5%
SR SR VA = AT R
Lo e XIERIOR RS ESE
- o BlEEE
1.75" MIN \ / - T i
PANEL THK N NOTE: ITEM 24 NOT SHOWN THIS NEEERE
N~ 7 VIEW FOR CLARITY SSINSSE
SI8I=8I8
wijt|Ojmj<
SEE DETAIL DATE: 17-15-01
SEE NOTE 4
ON SHT. 4 1 ON THIS 10 Prepared By: SCALE:  N.T.S.
’ SHEET (ole s/ S sy |0'C: 5 WLN
CHK. BY: Rw
HORIZONTAL CROSS SECTION Florida P, E. Nor #1323 FTE 5
@9 IMPERIAL ASTRAGAL PIC, UG PTC, LLC $-2108-03
O or o o e 25 Phone: 321-690~1788
FBPE Cortifiocte of Authorization NO, 25935 Fox: 321-690-1789 SHEET _J oF _8




SEE NOTE 4 SEE NOTE 7 PRODUCT RENEWED
%} ON SHT. 4 24)(44) (28 4 ﬁ@ @@@ 13)(6)(5)(6 @CZP @ ON SHT. 4 ;sugg_mpl(y:inlg with the Florida
mg Code
Acceptance No_g7-0705.07
Expraton Dote Aea Ly
32 XTERIO SOUD B8 | sy lshag | (liand.
SEE NOTE 3 Mkt Dade Control
oN sHT, 43! EXTERIOR 1.75" MIN. Divblon
' ' / ' .. N .-.. \ .-. .' a
It .._,<> O AR %mg_g
IZINN f G R K
1 . N * . . ’ ' . N IL
--//; \\\ [ ] SEE DETAIL 4_/ "/ NNy g § E v
oA N INTERIOR ON SHEET 5 Y/ NV d &
17 . A4 NGO - ’
FOR OPTIONAL .///; ;\\\, . INTERIOR f/// \\\.\_ Wi 3 x
2 e 1”16 5 /7 % ' \ 10 ' o N\ \\ SEE NOTE 2053
SEE SHEET #7 /// NN 10 SEE NOTE 5@/ 7. \\i ON SHT. 4 2. [
24 TRANSN SEE NOTE 5 d) O ON SHT. 4 e NN SEE NOTE 6 K 9
SEE NOTE 650\ [.//7, .\\ 250N SHT. 4 ! ! // \.\ 290N SHT. 4 §m5’ §
ON SHT. 4 4 % x| 5
Aes SEE DETAL 5 4 FOR OPTIONAL obB| &
M » w
0.75 \¢| ON SHEET 5 % 0.75 12" & 1° LG_J g;g il
SEE SHEET #7 wol| 22
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION S”E|. Sa
@) AT SIDELITE TO LATCH JAMB 6% AT SIDELITE TO HINGE JAMB §%§ 5 E—'%
w833 &
#10 WOOD 2SE (9 g
, SCREW o
NOTES: CONCRETE/ (19)SEE NOTE 2 (33)SEE NOTE 3 Yl
1. SPACING FOR ITEM #26 THE #10 x 1” PFH SCREWS ATTACHING THE IMPERIAL ASTRAGAL TO THE INACTVE DOOR IS YM'?)STOAE'RY ON SHT. 1 ON SHT. 4 SR2E g
AS FOLLOWS: FROM THE TOP DOWN & THE BOTTOM UP; 1.0°, 25", 4.0%, 557, 130", 18.0" & 26.0" BY OTHERS FOR OPTIONAL gl FE
2. SPACING FOR ITEM #23 THE #8 x 1 1/2" PLASCREW IS AS FOLLOWS: 29 12 & 17 16. EEEES
P IDELIT ; 3.0" IN FROM EACH CORNER. SEE SHEET 47 g
ON_THE SIDES, VERTICALLY, FOR THE SIDELITE PANELS; 3.0, 135" 24.5" 36.0", 46.0, 57.5", 68.5" & 79.0" o
3. SPACING FOR ITEM #31 THE 16GA x 3/4” BRAD TRIM NAIL ATTACHING THE QUARTER ROUND TO THE SIDELITE AND Q ‘. W i
THE MULLION CAP TO THE MULLION BAR VERTICALLY, IS AS FOLLOWS: TOP & BOTIOM HORIZONTALLY: 1.25” IN N o 0.125" N R
FROM EACH CORNER WITH (1) NAIL MID-SPAN, N - I N 6uass THK EXTERIOR n N
ON THE SIDES VERTICALLY; 1.25" FROM EACH END & SIX MORE EQUALLY SPACED ON THE FIELD. SN . - | | 3 2
4. WHEN ATTACHING THE STRIKE PLATE TO THE JAMB AND BUCK USE TEM #25, A #8 x 2 1/2" PFH WOOD SCREW, N o 1 S z2
WHEN ATTACHING THE STRIKE PLATE TO THE JAMB AND SIDELITE JAMB AT THE MULLION USE MTEM f24, A #8 x 2" N o f e
PFH WOOD SCREW. N\ = il INTERIOR %9 SR
5. SPACING FOR ITEM #25 THE #8 x 2 1/2" PFH WOOD SCREWS ATTACHING THE JAMBS TOGETHER AT THE MULLION, NN 05> 3lal€ls 2
IS AS FOLLOWS: 6.0" FROM EACH VERTICAL CORNER WITH (5) MORE SCREWS EQUALLY SPACED ON THE FIELD, NN gL g :
6. THE SIDELITE PANEL IS SECURED INTO THE SIDELITE JAMB W/ ITEM #29 SILICONE CAULK ON THREE SIDES AND SN /S 5 8|3
3/8" QUARTER ROUNDS SECURED WITH ITEM #31 BRAD TRIM NALLS x 3/4" LONG. . 23 SENEE
7. WHEN ATTACHING THE HINGE TO THE JAMB AND BUCK USE ITEM £27, A #10 x 2" PFH SCREW. WHEN ATTACHING NN HORIZONTAL CROSS SECTION RN
THE HINGE TO THE JAMB AND SIDELITE JAMB AT THE MULLION USE ITEM #14, A #10 x 1 3/4” PFH WOOD SCREW, NN @9 AT NON-IMPACT SIDELITE TO BUCK SISKERIE
8. SPACING FOR ITEM f49 THE #6 x 1 1/2" PANHEAD SCREW (TRINITY LITEFRAME) IS AS FOLLOWS: SN ON SHT. 4 (SHUTTER REQUIRED AT SIDELITE) §§; f St
SIDELITE_LITEFRAME FROM THE TOP_DOWN VERTICALLY: 5.63" 14.5% 23.25% 32.06" 41" 49.75" 58.56", 67.38" &
76.\31”. DATE: 11"15"01
SIDELITE_LITEFRAME TOP & BOTTOM, FROM THE LEFT; 3.13" & 6.88". Prepared By: seas:  N.T.S.
9. USE ITEM #51 WHEN INSTALLING INTO WOOD SUBSTRATE AT HEAD & JAMBS. USE ITEM 25 WHEN INSTALLING INTO 0.25" MAX oizs) e — T
MULLIONS. USE ITEM #16 WHEN INSTALLING INTO CONCRETE/MASONRY SUBSTRATE AT SIDELITE SILLS. = =" e '“"’ Y od 4 ]
1.50" MIN. Florida. P, C'E. 58??1323 DRAWING NO.:
- . . PTC, LLC $-2108-04
EMBED. ot e e 22 Phone: 321-690~1788
FBPE Certificate of Authorization NO. 25835 Fox: 321-690-1789 SHEET 4 OF _8




74.5" MAX. O.A. FRAME WIDTH

DETAIL 2 ~ @ HEAD JAMB
ASTRAGAL STRIKE PLATE

SEE DETAIL 2
/‘ ON THIS SHT.
F . . » . eof _ -’\o [ §
= SEE DETAIL 4
ON THIS SHT.
- 6 ) 9 12 5'
‘ TYP{‘ 3 TYP I l l -
[ . .
LGS I FErfnnd Il szt ||
! 7 ES
¥ {:2)
. #10 woop #10 woop e
6 SCREW TYP. SCREW TYP. 25.94
SPACES ,
0 14.25" |
4% - {  secoETALs T T )
| 97.5
97.5" /' ON THIS SHT. .
ox | a — - 2 i
FRAME e { HEIGHT
HEIGHT e i
JE - 1\ _ ER,
/7’@ 3/16” W 26"
L] —— T . —— -
36.625" APCON TYP
| ol -
3" Y. .
] 6'!._ ~—1" 7" TYP. L__j12.125
e @ .
\ SEE DETAL 3
ON THIS SHT.
UBLE DOOR WITHOUT SIDELITES ANCHOR_LOCATION:
Q SEE NOTE
7 SHEET 4

[~

DETAIL 4
HINGES TO JAMB & DOOR

ASTRAGAL STRIKE PLATE

70.25" MAX. O.A. FRAME WIDTH

PRODUCT RENEWED
as complying with the Flovidd
Buiding Code

Avceptance No & 7-4 299'07
Fxpiration Datc_A_u_g_a,{?vZal
@ F *a E . L2 » » e« ® OE LA 0§ @
4.5" TYP, |— 9" TYP.
3 TP —H |— 6.58" — 6" TYP.
3" vp. — 3 TYP.
1 NN 1 [ SEE DETAIL 4 _ E
T & . [T T T arT? T T[] 1 8.125 /ONTH’SSHT- S
) ) = 1. = - '___/ ‘ « 0 8 Y
@ #10 Wo0D &0 \(4d 2 s 33
] . /‘ - SCREW TYP._ _ ] E = §
6 \ SEE NOTE 5 25.94 TEE~
SPACES ~——_ ON SHEET 4 N\ ﬂ b §
6 14.25" L m§ h
’ ‘(| SEE DETAL 6)|™ >. - - + > a
ON THIS SHT. - @
2o
. ),J - J8 WooD  _ _ 2" g.é
({1 SCREW TYP. 32| 2
1127 d'oQ =
) \ 1B _ _ _ _ I Eo',% g%
o
D 375, £5
1 @ 2 RS
» a— - — — O
36.625" ~ L§§§ g g
1 ]
3/76" ITW B Gl S |
. - "/ TAPCON TYP. _ _ . 28&=|°
a4 a = =
- (= LHu L L L
sedb LI Php S
15" MIN, §§
C-SINK. TR §
N (%)
S | 2
g Rl
=
VIEWED FROM INTERIOR % o %g g
= b
\ ' gégﬁi
SEE NOTE 10\ é/ o|SIEES
ON SHEET 4  ~~— b
4 SSSNN
' NREREE
/r DETALL 7 NSRSSE
COUNTERSINK FOR ANCHORS glel=l8lR
I L] O] o] <T 4]
12| DATE: 11—15-01
\\ SEE NOTE Prepared By: SCALE:  NT.S.
4 SHEET 4 DWG. BY: WLN
) .(o‘m: ) Y o 7 ok, o RW
@X - HoﬁdﬁrE;é. Egm 1323 DRAWING NO.:
DETAIL 6 1535 Cogawell Strest, Sute C25 PIC, LLC 5~2108-05
: Phone: 3216901788
STRIKE PLATES TO ASTRAGAL STRIKE PLATES TO JAMB oo Jocadge, Florda 32966 hone: 321-690-178 e




PRODUCT RENEWER

as complying with the Florids
Buiding Code

Acceptance Ne0 7-0705.07
Expiration Date olZd

’ By (shies |, Lhand.
107" MAX. 0.A. FRAME WIDTH 37. 75 MAX. OA. Miams oo Prefact Cnntral

. ' S V T ; = ! 4} @ FRAME WIDTH i

"\_ SEE DETAL 2 —F =
¢ ON SHEET 5 g §
542" T, SEE DETAL 4 S o
(@) 15.42° TP, ON SHEET 5 - g @ % E
— 6" TYP. <
| | | | el { SEE DETAL 4 2-5 g i
6" TYP, i [ l_! Ut siasm f]] 6P || . ' - - 8-’25/~.» g EE!:
. i Al yan) T/
. | ) 3 ) q 5
I3 410 woop e ) 4 o z
il SCREW TYP i B . - . i
" — \c— - - . 7 ’10 me 25 94-
SPACES SEE NOTE 5 __—= SPACES | A1 e 1221 - - . ga&s
@ 14.25 ON SHEET 4 0 14.25 m 22| 2
. % - - TR ' X 5
’ ] 2 LS| =
) i f SEE DETAL 5 k2 97.5" 1 _see peran s)|_ _ : Erg| 32
97.5 |~ ON SHEET 5 ] WAX. |/ ON SHEET 5 24" o3 S
MAX. | _ - - 24 . ‘ 0A. T—/i\ w=gl . 22
0A i\ @/. FRAME . - - . 5715852
FRAME 127l I HeighT 120 APL L) 1 S«3|33
HEIGHT éi}i @ T +—\lg/ 3 HEE (i
. -— — - - ¢ ¢ .u — m - . . hk 9
/—‘ » g %{J.‘G g
4 3 26” 26 a ZE
L} — — i = NN - * e 3 3 » 'y — S .
: ‘; 3716 W . 1 SR
g ) 1 TAPCON TYP. @ I~"EE 3/76" ITW B 8 =
4% j \P , . _ / TPCON TP, _ ,
‘_.L T 1 | I _Q I = §§
— .I 6| 8.58" T % W
v, TYP 3 2 | e
(=]
LS
a¥izi3e
g ) é olaz
S —
A ZE (3
_ SEE DETAL 3 SINGLE DOOR WITHOUT SIDELITES ANCHOR LOCATIONS 2|Sl8 % e
ON SHEET 5 VIEWED FROM INTERIOR SRS
j REERRE
VIEWED FROM INTERIOR SRR
LI O] O D] <[5y
DATE: 11-15-01
Prepared By: Z::'EBY NIViN
A aumwemy ™
1ol 257 CHK. B:  RW
Eric S. Nielsen r ' ‘ DRAWING NO.:
Florida IF;':I'CE. &g 41323 PTC. LLC S-—2108—06
S ockisdge, Florda’ 32055 Phone: 321-690~1788

FBPE Certificate of Authorization NO. 25035 Fox: 321-690~1789 SHEET 6 oF 8




EXTERIOR

0.125" MIN.
TEMP. GLASS
THICKNESS

Ly

77

P7777777

7

-

d
)

(VL7777 A

 INXESANS

L7778

7]
p

A ]

%

INTERIOR

SEE NOTE 2
ON SHT. 4

GLAZING DETAIL ODL LITE FRAME (PER CURRENT NOA)
SINGLE PANE 1/8" TEMPERED GLASS
HP POLYPROPYLENE
THERMOFIL~P6~-30FM0391

50 50 (48

EXTERIOR
0.125" TEWP,
L e | | { ouass
S | 1.0" MIN. )
Clat i XN cuiss THk, ] 0757 AR SPACE
IUREIRNTNIRER 1 ' [ 0.125" TemP.
GLASS
INTERIOR 75" x .50" INTERCEPT
5| 6LASS STEEL SPACER
> grE
SEE NOTE 8
29I G oN sur. 4 50

@ GLAZING DETAIL TRINITY LITE FRAME (PER CURRENT NOA)
1" INSULATED TEMPERED GLASS
LUPOY EU-5007

PRODUCT RENEWED

as complying with the Floridyg
Buiding Cede

Acveptance No 0 70 707 07
Expiration Date_ AV 6 A/ 120l 2

By k/w@) { L‘«AV!;L_

Miani Dade Froduct Confrel
Division
s &
dmﬁg
= E ]
Egég
o
q b3
.8 d§3:
w
EXTERIOR §m§
05" MIN.  0.125" TEMP.  0.250" AR 2_"..0.. 9
GLASS THK. GLASS SPACE QP =
| | E."’E' E‘
o — 4Rs). g
7 25 1g3
" OQ:S g <o
0.125° TEMP. MSE =
25" x 50"  GLASS g85s 9
INTERCEPT Bl Ses | x
INTERIOR STEEL SPACER SBEL (S
SRE |k
a a
ON SHT. 4 8§§§§_5
GLAZING DETAIL TRINITY LITE FRAME (PER CURRENT NOA) g%u
1/2" INSULATED TEMPERED GLASS 3 u§ n
LUPOY EU-5007 3= &
RERN
§E§g§
318-ls
@ga&g
Qs g § &
S|S|88ls
RRSREE
SN NN
38=I8l3
Wi QO <t
DATE: 11-15-01
Prepared By: SCAE:  NTS.
( / OWG. BY: WLN
1ol 75 r CHK. BY: RwW
norwiﬁ%zz. tr:d"é?a:wza " DRAWING NO.: ,
A PTC, LLC S-2108-0
e s S 22 Phone: 321-690-1788
FBPE Certificate of Authorization NO. 25935 Fax: 321-690-1789 SHEET /7 oF _8




) 1.67" ~— 1.67" —] 167" —= 4.56 . PRODUCT RENEWED
I._ 1.67 _.I ’v — 2.19 | mywclngwith the Florida
ng Code
vo0 7 g L /./ : ,/" ) // g » g ~o 07"070 -07
7T ' ‘ T T : VU050 07 e | e or-o7o
77 1.95 1.00 1.00 1.00 1 95° ////// AN . Aulealy 20/
. / - f . : - » 4
4 —t : WA, 030 ’ blehag | (el
Divisiax
(s) woop Borrou pai (13) woon e s (7) w_sarcn s (1) L 10p o % oop g
(4X44) poNoeRosA PiNE g §
s285
-11.013' I—— < 5 3 3
I—- 1.67" —*’ i E E ;‘E §.
1.65" 0.53" 3 -
T l"_ —I_L | —1—'»0 o 1.54" 3 S53
1.21" . 038" | = (pwmmmhgy MY A o § :
| 0.831 i T ; 57| = 3
» w
T ) 0.14 l— 1.75" —] e, &
0.53 ' 252" =g
DOOR BOTTOM RAIL CORNER BLOCK FOR COMPRESSION WEATHERSRTIP . TRINITY LITEFRAME . IRINITY LITE FRAME ‘ QDL LITE FRAME x| B
@ 24GA (.0207) STEEL @ STEEL BOTTOM SCHLEGEL Q-LON QDS 650 @ (UNDER SEPERATE NOA) Q (UNDER SEPERATE NOA) @ (UNDER SEPERATE NOA) S?g 5
MDF x 3.0° LONG ZE S
W=z =
1.50" 4 §%g g1 8
- 125" |— o375 58 &5
OQ:O 3 %
0.375" —~| |—1I wSE |3
[ 7]
7N ‘l_%’\ Bo=2
P 0.62° O J 3/8" QUARTER ROUND SRS
1.75" ros”  (32) Shemme st : 3R SE
1.75" 250" :J/ /;/ /Z/)f/f PINE 2040 O O e
ASTRAGAL HAS TWO 312" ' J o o TR
1 DIA. x 9" LONG BOLTS; . . 1.375" S EJpSIEARAES
1 ON TOP, 1 ON BOTTOM @) 3.25 - 2.00 *I"— - N 4
——-, 1.02" '- - 3.25 ! Ll 0.007" —||— 4.000” §§
UTSWING HIGH DAM BUMP FACE THRESHOL 3
ASTRAGAL (IMPERIAL) .ASﬂ?A AL_STRIKE PLAT QUISWING HIGH_DAM_BUMP FACE THRESHOLD Muu.mu_cae HAGER STEEL BUTT HINGE FI8lw
_ » 0.051" THK. WALL ALUMINUM - BY IMPERIAL PINE (97.50" LONG 4" x 4" x .097" THK. STEEL
(40) 606376 ALthanaa (+) (MPERIAL 0.125" STEEL) (9) T WoOR: MALL ( ) x 47 x ggé g
& TS
» . ) =, | X|G|x
18 171" — } ,@Ejéoig
¢ » 1.00" &= S|
et
DIA. VARIES WITH I l f f 1S § 2
HARDWARE USED , 4.04" , QY=
SNEEIE
NSNS
WING STANDARD BUMP_FACE THRESHOQ NN
EXTRUDED ALUMINUM — BY PEMKO LSS
4.00" WITH WO0D INSERT w| &l o] <[+
DATE: 11-15-01
Prepared By: SCME:  N.TS.
DWG. BY:
o | e e
. ) ric S. Nieisan : :
Foride :.TZE. N&é"nszs DRAWING NO.:
@ 00D LOCK BLOCK 1535 Cogmn o Sute c25 ohone GE—%& 78 S-2108-08
, Flol >
VL x 1.717 THK. FBPE Cartfoots of Authoriacton NO. 25035 Fox: 321-690~1789 SHEET 8 oF 8




